


Ref# Part# Description Context Note
NSP ENCLOSURE, 16" x 12" x 6"
NSP BACK PANEL
191995GS TRANSFER SWITCH, 100A, with Cover & Handle
PPHMS, #10 - 32 x 1/2" (Purchase locally)
PPHMS, #6 - 32 x 1/4" (Purchase locally)
PPHMS, #6 - 32 x 1/2" (Purchase locally)
193159GS DECAL, Reinstall After
191668GS CONTROL, Board
196353GS SPACER, Nylon
196094GS GROUND LUG
WASHER, Lock 1/4" (Purchase locally)
NUT, 1/4" - 20 (Purchase locally)
192696GS TERMINAL, Neutral
B4857GS FUSE
192151GS FUSE HOLDER
192557GS STANDOFF, Purse Lock
198136GS DECAL, Logo
192702GS DECAL, Term Strip
B5106GS DECAL, Connection, Utility
B5107GS DECAL, Connection, Generator
196522GS DECAL, 100A,ATS
190992GS DECAL, Warning Shock
190984GS DECAL, Fuse
B4986GS DECAL, Ground
192597GS DECAL, Utility, 240 VAC
192165GS DECAL, APPVD CB
193307GS DECAL, Load
WASHER, Flat, #10 (Purchase locally)
WASHER, Ext.Tooth, #10 (Purchase locally)
PPHMS, #6-32 x 3/8" (Purchase locally)
192150GS SPACER

Foot Note



